
Output of C programming Practical  4 

Output 1 

Enter cost and rate:5000 10 

 

--------------------------------------------------------------- 

         Year   |        Dep    |        Depretiated Value 

--------------------------------------------------------------- 

         1      |        500.000000     |        4500.000000 

         2      |        450.000000     |        4050.000000 

         3      |        405.000000     |        3645.000000 

         4      |        364.500000     |        3280.500000 

         5      |        328.049988     |        2952.449951 

         6      |        295.244995     |        2657.205078 

         7      |        265.720520     |        2391.484619 

         8      |        239.148468     |        2152.336182 

         9      |        215.233612     |        1937.102539 

         10     |        193.710251     |        1743.392334 

------------------------------------------------------------------ 

 

Output 2 

Enter Salesman Name: RAJ 

Enter sales:40000 

 

         Salesman Name: RAJ 

         commission: 4000.000000 

         bonus: 150.000000 

 

Output 3  

Enter cost:5000 

 

----------------------------------------------------------------- 

         Year   |        Dep    |        Depretiated Value 

------------------------------------------------------------------ 

         1      |        1750.000000    |        3250.000000 

         2      |        1137.500000    |        2112.500000 

         3      |        739.375000     |        1373.125000 

         4      |        480.593750     |        892.531250 

         5      |        312.385925     |        580.145325 

------------------------------------------------------------------ 

 

Output 4 

enter a character: a 

its a vowel 

 

 

Output 5 

sum of the series is 46860.000000 

 

 



Output 6 

sum of the series is 39770.000000 

 

 

Output 7  

Enter a customer number: 1 

Enter a customer name: Amar 

Enter Units: 1000 

 

        Customer Number: 1 

        Customer Name: Amar 

        Customer Bill Amount: 1500.000000 

 

 

Output 8 

Enter P.amt,Rate & Years: 5000   12     5 

 

 

         Simple Int:3000.000000 

         year   |        compound interest 

----------------------------------------------- 

        1       |       600.000000 

        2       |       672.000000 

        3       |       752.640015 

        4       |       842.956787 

        5       |       944.111572 

------------------------------------------------- 

 


